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NEW QUESTION 1
Your organization needs to restrict access to a Cloud Storage bucket. Only employees who are based in Canada should be allowed to view the contents.
What is the most effective and efficient way to satisfy this requirement?

A. Deploy the Cloud Storage bucket to a Google Cloud region in Canada
B. Configure Google Cloud Armor to allow access to the bucket only from IP addresses based in Canada
C. Give each employee who is based in Canada access to the bucket
D. Create a group consisting of all Canada-based employees, and give the group access to the bucket

Answer: D

NEW QUESTION 2
You decide to migrate your on-premises environment to the cloud. You need to determine which resource components still need to be assigned ownership.
Which two functions are owned by a public cloud provider? (Choose two.)

A. Hardware maintenance
B. Infrastructure architecture
C. Infrastructure deployment automation
D. Hardware capacity management
E. Fixing application security issues

Answer: AB

NEW QUESTION 3
You are a program manager within a Software as a Service (SaaS) company that offers rendering software for animation studios. Your team needs the ability to
allow scenes to be scheduled at will and to be interrupted at any timeto restart later. Any individual scene rendering takes less than 12 hours to complete, and
there is no service-level agreement (SLA) for the completion time for all scenes. Results will be stored in a global Cloud Storage bucket. The compute resources
arenot bound to any single geographical location. This software needs to run on Google Cloud in a cost-optimized way.
What should you do?

A. Deploy the application on Compute Engine using preemptible instances
B. Develop the application so it can run in an unmanaged instance group
C. Create a reservation for the minimum number of Compute Engine instances you will use
D. Start more instances with fewer virtual centralized processing units (vCPUs) instead of fewer instances with more vCPUs

Answer: A

NEW QUESTION 4
Your organization needs to ensure that the Google Cloud resources of each of your departments are segregated from one another. Each department has several
environments of its own: development, testing, and production. Which strategy should your organization choose?

A. Create a project per department, and create a folder per environment in each project.
B. Create a folder per department, and create a project per environment in each folder.
C. Create a Cloud Identity domain per department, and create a project per environment in each domain.
D. Create a Cloud Identity domain per environment, and create a project per department in each domain.

Answer: D

NEW QUESTION 5
Your company is running the majority of its workloads in a co-located data center. The workloads are running on virtual machines (VMs) on top of a hypervisor
anduse either Linux or Windows server editions. As part of your company’s transformation strategy, you need to modernize workloads as much as possible by
adopting cloud-native technologies. You need to migrate the workloads into Google Cloud.
What should youdo?

A. Export the VMs into VMDK format, and import them into Compute Engine
B. Export the VMs into VMDK format, and import them into Google Cloud VMware Engine
C. Migrate the workloads using Migrate for Compute Engine
D. Migrate the workloads usingMigrate for Anthos

Answer: D

NEW QUESTION 6
Your organization runs many workloads in different Google Cloud projects, each linked to the same billing account. Each project's workload costs can vary from
month to month, but the overall combined cost of all projects is relatively stable. Your organization needs to optimize its cost.
What should your organization do?

A. Purchase a commitment per project for each project’s usual minimum
B. Create a billing account per project, and link each project to a different billing account
C. Turn oncommitted use discount sharing, and create a commitment for the combined usage
D. Move all workloads from all different projects into one single consolidated project

Answer: B

Explanation: 
 Billing contacts 
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NEW QUESTION 7
The operating systems of some of your organization’s virtual machines may have a security vulnerability. How can your organization most effectively identify all
virtual machines that do not have the latestsecurity update?

A. View the Security Command Center to identify virtual machines running vulnerable disk images
B. View the Compliance Reports Manager to identify and download a recent PCI audit
C. View the Security Command Center to identify virtual machines started more than 2 weeks ago
D. View the Compliance Reports Manager to identify and download a recent SOC 1 audit

Answer: A

NEW QUESTION 8
Your organization wants to migrate its data management solutions to Google Cloud because it needs to
dynamically scale up or down and to run transactional SQL queries against historical data at scale. Which Google Cloud product or service should your
organization use?

A. BigQuery
B. Cloud Bigtable
C. Pub/Sub
D. Cloud Spanner

Answer: D

NEW QUESTION 9
You are a program manager for a team of developers who are building an event-driven application to allow users to follow one another’s activities in the app. Each
time a user adds himself as a follower of another user, a write occurs in the real-time database.
The developers will develop a lightweight piece of code that can respond to database writes and generate a notification to let the appropriate users know that they
have gained new followers. The code should integrate with other cloud services such as Pub/Sub, Firebase, and Cloud APIs to streamline the orchestration
process. The application requires a platform that automatically manages underlying infrastructure and scales to zero when there is no activity.
Which primary compute resource should your developers select, given these requirements?

A. Google Kubernetes Engine
B. Cloud Functions
C. App Engine flexible environment
D. Compute Engine

Answer: B

NEW QUESTION 10
Your company’s development team is building an application that will be deployed on Cloud Run. You are designing a CI/CD pipeline so that any new version of
the application can be deployed in the fewest number of steps possible usingthe CI/CD pipeline you are designing. You need to select a storage location for the
images of the application after the CI part of your pipeline has built them.
What should you do?

A. Create a Compute Engine image containing the application
B. Store the images in Container Registry
C. Store the images in Cloud Storage
D. Create a Compute Engine disk containing the application

Answer: B

NEW QUESTION 10
Your organization is developing and deploying an application on Google Cloud. Tracking your Google Cloud spending needs to stay as simple as possible.
What should you do to ensure that workloads in the development environment are fully isolated from production workloads?

A. Apply a unique tag to development resources
B. Associate the development resources with their own network
C. Associate the development resources with their own billing account
D. Put the development resources in their own project

Answer: D

NEW QUESTION 13
Your organization needs to categorize objects in a large group of static images using machine learning. Which Google Cloud product or service should your
organization use?

A. BigQuery ML
B. AutoML Video Intelligence
C. Cloud Vision API
D. AutoML Tables

Answer: D

NEW QUESTION 18
Your organization wants to be sure that is expenditures on cloud services are in line with the budget. Which two Google Cloud cost management features help
your organization gain greater visibility into its cloud resource costs? (Choose two.)
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A. Billing dashboards
B. Resource labels
C. Sustained use discounts
D. Financial governance policies
E. Payments profile

Answer: BD

NEW QUESTION 20
Which Google Cloud service or feature lets you build machine learning models using Standard SQL and data in a data warehouse?

A. BigQuery ML
B. TensorFlow
C. AutoML Tables
D. Cloud Bigtable ML

Answer: A

Explanation: 
BigQuery ML lets you create and execute machine learning models in BigQuery usingstandard SQL queries. 

NEW QUESTION 25
Your company has been using a shared facility for data storage and will be migrating to Google Cloud. One of the internal applications uses Linux custom images
that need to be migrated.
Which Google Cloud product should you use to maintain the custom images?

A. App Engine flexible environment
B. Compute Engine
C. App Engine standard environment
D. Google Kubernetes Engine

Answer: B

NEW QUESTION 26
Your organization runs a distributed application in the Compute Engine virtual machines. Your organization needs redundancy, but it also needs extremely fast
communication (lessthan 10 milliseconds) between the parts of the application in different virtual machines.
Where should your organization locate this virtual machines?

A. In a single zone within a single region
B. In different zones within a single region
C. In multiple regions, using one zone per region
D. In multiple regions, using multiple zones per region

Answer: A

NEW QUESTION 29
What is the difference between Standard and Coldline storage?

A. Coldline storage is for data for which a slow transfer rate is acceptable.
B. Standard and Coldline storage have different durability guarantees.
C. Standard and Coldline storage use different APIs.
D. Coldline storage is for infrequently accessed data.

Answer: D

NEW QUESTION 31
You are migrating workloads to the cloud. The goal of the migration is to serve customers worldwide as quickly as possible According to localregulations, certain
data is required to be stored in a specific geographic area, and it can be served worldwide. You need to design the architecture and deployment for your
workloads.
What should you do?

A. Select a public cloud provider that is only active in the required geographic area
B. Select a private cloud provider that globally replicates data storage for fast data access
C. Select a public cloud provider that guarantees data location in the required geographic area
D. Select a private cloudprovider that is only active in the required geographic area

Answer: D

Explanation: 
Many companies choose private cloud over public cloud because private cloud is an easier way (or the only way) to meet their regulatory compliance
requirements. Others choose private cloud because their workloads deal with confidential documents,intellectual property, personally identifiable information (PII),
medical records, financial data, or other sensitive data.

NEW QUESTION 33
Your organization wants to migrate your on-premises environment to Google Cloud. The on-premises environment consists of containers and virtual machine
instances. Which Google Cloud products can help to migrate the container images and the virtual machine disks?
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A. Compute Engine and Filestore
B. Artifact Registry and Cloud Storage
C. Dataflow and BigQuery
D. Pub/Sub and Cloud Storage

Answer: A

NEW QUESTION 37
Your organization needs to process large amounts of data from an online application that operates continuously. You do not want to be required to provision
infrastructure or create server clusters. What should your organization choose?

A. Compute Engine with BigQuery
B. Dataproc
C. Google Kubernetes Engine with Cloud Bigtable
D. Dataflow

Answer: A

NEW QUESTION 38
Your organization needs a large amount of extra computing power within the next two weeks. After those two weeks, the need for the additional resources will end.
Which is the most cost-effective approach?

A. Use a committed use discountto reserve a very powerful virtual machine
B. Purchase one very powerful physical computer
C. Start a very powerful virtual machine without using a committed use discount
D. Purchase multiple physical computers and scale workload across them

Answer: C

NEW QUESTION 42
Your organization is migrating to Google Cloud. As part of that effort, it needs to move terabytes of data from on-premises file servers to Cloud Storage. Your
organization wants the migration process to be automated and to be managed by Google. Your organization has an existing Dedicated Interconnect connection
that it wants to use. Which Google Cloud product or feature should your organization use?

A. Storage Transfer Service
B. Migrate for Anthos
C. BigQuery Data Transfer Service
D. Transfer Appliance

Answer: A

NEW QUESTION 44
Which Google Cloud product can report on and maintain compliance on your entire Google Cloud organization to cover multiple projects?

A. Cloud Logging
B. Identity and Access Management
C. Google Cloud Armor
D. Security Command Center

Answer: B

NEW QUESTION 47
Your organization runs all its workloads on Compute Engine virtual machine instances. Your organization has a security requirement: the virtual machines are not
allowed to access the public internet. The workloads running on those virtual machines need to access BigQuery and Cloud Storage, using their publicly
accessible interfaces, without violating the security requirement.
Which Google Cloud product or feature should your organization use?

A. Identity-Aware Proxy
B. Cloud NAT (network address translation)
C. VPC internal load balancers
D. Private Google Access

Answer: B

NEW QUESTION 50
Your organization needs to allow a production job to have access to a BigQuery dataset. The production job is running on a Compute Engine instance that is part
of an instance group.
What should be included in the IAM Policy on the BigQuery dataset?

A. The Compute Engine instance group
B. The project that owns the Compute Engine instance
C. The Compute Engine service account
D. The Compute Engine instance

Answer: A
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NEW QUESTION 55
Your organization is developing a plan for migrating to Google Cloud.
What is a best practice when initially configuring your Google Cloud environment?

A. Create a project via Google Cloud Console per department in your company
B. Define your resource hierarchy with an organization node on top
C. Create projects based on tem members’ requests
D. Make every member of your company the project owner

Answer: B

NEW QUESTION 56
Your organization needs to establish private network connectivity between its on-premises network and its workloads running inGoogle Cloud. You need to be able
to set up the connection as soon as possible.
Which Google Cloud product or feature should you use?

A. Cloud Interconnect
B. Direct Peering
C. Cloud VPN
D. Cloud CDN

Answer: A

Explanation: 
Private Google Access foron-premises hosts provides a way for on-premises systems to connect to Google APIs and services by routing traffic through a Cloud
VPN tunnel.

NEW QUESTION 57
Yourorganization offers public mobile apps and websites. You want to migrate to a Google Cloud-based solution for checking and maintaining your users’
usernames and passwords and controlling their access to different resources based on their identity.
Which should your organization choose?

A. VPN tunnels
B. Identity Platform
C. Compute Engine firewall rules
D. Private Google Access

Answer: B

Explanation: 
An identity platform is a modern solution for managing the identities of users and devices in acentralized fashion.

NEW QUESTION 61
......
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